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Paper - I
T-aA -1

Note : This paper contains Sixty (60) questions, each question carrying two (2) marks.

e

W-00

Candidate is expected to answer any Fifty (50) questions.

In case more than 50 questions are attempted, only the first SO0 questions will be
evaluated.

T UTH-T51 H WIS (60) TEshedid 79 &, cdeh U9 o &Y (2) 3 ¢ |

31327ef] ! T (50) U ST |

IS T=T (50) T 2RI T o SR GG O Tuw u= (50) U9 & S ST |

The University which telecasts interaction educational programmes through its own
channel is

(A) Osmania University

(B)  University of Pune

(C) Annamalai University

(D) Indira Gandhi National Open University (IGNOU)

Which of the following skills are needed for present day teacher to adjust effectively
with the classroom teaching ?

1.  Knowledge of technology

2. Use of technology in teaching learning

3.  Knowledge of students’ needs

4. Content mastery

(A) 1&3 B) 2&3 ) 2,3&4 (D) 2&4

Who has signed an MOU for Accreditation of Teacher Education Institutions in India ?
(A) NAAC and UGC (B) NCTE and NAAC

(C) UGC and NCTE (D) NCTE and IGNOU

frefafad & @ &9 a1 fovataerea & S 1o Mt oFer o7 fohan Tremedt 9ifetes srishe
TIMATE 2

(A) ST Irareet (B) JHaraet i qur

(C) 3THeTE giaraer (D) e TiTelt oot Sfiue giaraer (3

TeAfeRad o | A ARG & S 37T o 3T o (670 FHel- 3T H FHIEST e |
T g Bt & 2

1. venfimeR! = =

2. 7T SARTH H WIRITeR! ST W

3.  To=nfeat =t emervaeRdre 1 I

4. a9 W AEFR

(A) 13R3 (B) 233 (C) 2,334 (D) 23R4

Trfefiad | @ fohee IRA i 3TeaTdeh 976t Seami © STRaihid o fou SHeiidr-us W g&ier
g2

(A) TALTH. 3R A (B) TUAHNLZE. IR TTU.UE.

(C) FSharn SR TAHLAE. (D) TAHELAE. 3R .S 37, (37+)

3 P.T.O.
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The primary duty of the teacher is to

(A) raise the intellectual standard of the students
(B) improve the physical standard of the students
(C) help all round development of the students
(D) imbibe value system in the students

Micro teaching is more effective

(A) during the preparation for teaching-practice
(B) during the teaching-practice

(C) after the teaching-practice

(D) always

What quality the students like the most in a teacher ?

(A) Idealist philosophy (B) Compassion
(C) Discipline (D) Entertaining
A null hypothesis is

(A) when there is no difference between the variables
(B) the same as research hypothesis

(C) subjective in nature

(D) when there is difference between the variables

The research which is exploring new facts through the study of the past is called
(A) Philosophical research (B) Historical research
(C) Mythological research (D) Content analysis

Action research is

(A) An applied research

(B) A research carried out to solve immediate problems
(C) A longitudinal research

(D) Simulative research

The process not needed in Experimental Researches is
(A) Observation (B) Manipulation
(C) Controlling (D) Content Analysis

Manipulation is always a part of
(A) Historical research (B) Fundamental research
(C) Descriptive research (D) Experimental research

Which correlation co-efficient best explains the relationship between creativity and
intelligence ?

(A) 1.00 (B) 0.6

(€ 05 (D) 03
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1A ol TR 1 &

(A) fernfor & Sifges TR i e AT

(B) Tomnfémi & TIRIReh TR i Sl ST

(C) forenterat o Feuefr foshr § Heraar Tgar]
(D) Tomnfém & Jog-ugia 7T

& (HTSsht) 3TEATI ATk THIETet &
(A) STETH-3TI™ & TARI o SR
(B) TAUH-319T & S
(C) 3TEATTH-31T & A%

o)

o)

o)

o)

(D) YIS 9T

Toremelt sreaTaes B foR TTUT BT el 1T Ua= el & 7
(A) 3TEIETE! 9 (B) U
(C) e (D) WARSTH
T € INheTT €

(A) T IA & o Big =TT T & |
(B) INY-UReHeTT & THA

(C) wHia o Al s

(D) T AT o ol (=TT & |

I Y I, ST ST o 3T GRT AU AT i FieT Shdl &, T el ?

(A) TSI Iy (B) UfdeIiass vy
(C) TP vy (D) o= fagersor
[ERIBEISRICE

(A) U AN Y

(B) iy T ATchifeTeh TGS i 861 i o [od fohall T
(C) 3TISEATcHe oY

(D) 3F&T-TY

TATTICHSR ¥l o fore Hfsha i STrereashe el & ?

(A) I (B) Sirg-drg
(C) F==mT (D) o fagetsor
Sirg-dte Te fergent AT 2l € 2

(A)  Ufeferiaes viter (B)  TeTyd ¥
(C) fomromerss oy (D) VENTICH Iy

ffefiad & 9 i 91 TE-Fraf=d TuTish Faraaar § GorTeHeRdT SR JlgHdT & STIE ey
T TR & ?
(A) 1.00 B) 0.6
© 0.5 (D) 0.3
5 P.T.O.
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Read the following passage and answer the Question Nos. 13 to 18 :

The decisive shift in British Policy really came about under mass pressure in the
autumn and winter of 1945 to 46 — the months which Perderel Moon while editing
Wavell’s Journal has perceptively described as ‘The Edge of a Volcano’. Very
foolishly, the British initially decided to hold public trials of several hundreds of the
20,000 I.N.A. prisoners (as well as dismissing from service and detaining without trial
no less than 7,000). They compounded the folly by holding the first trial in the Red
Fort, Delhi in November 1945, and putting on the dock together a Hindu, a Muslim and
a Sikh (P.K. Sehgal, Shah Nawaz, Gurbaksh Singh Dhillon). Bhulabhai Desali,
Tejbahadur Sapru and Nehru appeared for the defence (the latter putting on his
barrister’s gown after 25 years), and the Muslim League also joined the countrywide
protest. On 20 November, an Intelligence Bureau note admitted that “there has seldom
been a matter which has attracted so much Indian public interest and, it is safe to say,
sympathy ... this particular brand of sympathy cuts across communal barriers.” A
journalist (B. Shiva Rao) visiting the Red Fort prisoners on the same day reported that
“There is not the slightest feeling among them of Hindu and Muslim ... A majority of
the men now awaiting trial in the Red Fort is Muslim. Some of these men are bitter that
Mr. Jinnah is keeping alive a controversy about Pakistan.” The British became
extremely nervous about the I.N.A. spirit spreading to the Indian Army, and in January
the Punjab Governor reported that a Lahore reception for released I.N.A. prisoners had
been attended by Indian soldiers in uniform.

Which heading is more appropriate to assign to the above passage ?
(A) Wavell’s Journal (B) Role of Muslim League
(C) LN.A. Trials (D) Red Fort Prisoners

The trial of P.K. Sehgal, Shah Nawaz and Gurbaksh Singh Dhillon symbolises
(A) communal harmony

(B) threat to all religious persons

(C) threat to persons fighting for the freedom

(D) British reaction against the natives

L.N.A. stands for
(A) Indian National Assembly (B) Indian National Association
(C) Inter-national Association (D) Indian National Army

‘There has seldom been a matter which has attracted so much Indian Public Interest
and, it is safe to say, sympathy ... this particular brand of sympathy cuts across
communal barriers.’

Who sympathises to whom and against whom ?

(A) Muslims sympathised with Shah Nawaz against the British

(B) Hindus sympathised with P.K. Sehgal against the British

(C) Sikhs sympathised with Gurbaksh Singh Dhillon against the British

(D) Indians sympathised with the persons who were to be trialled

The majority of people waiting for trial outside the Red Fort and criticising Jinnah were
the

(A) Hindus (B) Muslims

(C) Sikhs (D) Hindus and Muslims both

The sympathy of Indian soldiers in uniform with the released I.N.A. prisoners at Lahore
indicates

(A) Feeling of Nationalism and Fraternity

(B) Rebellious nature of Indian soldiers

(C) Simply to participate in the reception party

(D) None of the above
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freAferfia e ot afeu 3 79 13 § 18 & 1 ST ST

ferfest Hifa & FotarcHes aitadq AT H SH-THE & Ia19 o HRT 1945-46 & TS TS
sﬂﬁ%nﬁﬁrﬁmmwswﬁ SeeT STHET ST TR R TR & | SR TcaeTaa 3 feafd @t
3T forhieeh’ SIAeTaT o7 | TRET H, S7ed=<T JEdT ¥, foifesT TR 7 20,000 37E.04.T. Hicai
W oAl ohsHT TeAH (FH F FHH 7000 i HT-Hod Y 3R o1 sl o s&l SH)
Tt foram e | 3= 39 JEar W TR YEdT de il ST Sl TR 1945 i Koett o el fhetm
T 39 HoheH I YT TS I T ST Ueh 63, U YRer™ 31X Ueh o (U3, FeTed, e,
TR Ti7g Teoett) i FHeer § Wt o T | WieTTE ST, ASTeRIg] |y IR e Ja9id-ust &
ShIeT S | 8% F Al Shicll o URYM T 25 o % G9ETd TeT AT | Gieetd o off 39T o) H gu
US-URT | IMHA g€ | 20 ToraR s TTeTeR <RI ot Ueh fewvil o 78 iR fohar 7 foh gaqd gal
T SIS 31T HHAT el g1l fSram gat [Eereredt, I8 e ot Suge i fob Wi, STmehfta i
2 | fo9Is R Rl T FeT T TR eh STakiel ohi oifel STl & | Ueh UslehR (oY, Tomarme) = &t
57 o1t oot o afreal & HotrehTa o a8 9 RATe foham — ‘39 fég, 3reram qReTs g o1 oret A1 o
TS & € ... O (ohel | TohaH Y Telell IR & AT | O S8 JeetdHi i off 3R 379 |
FT T AT & F & Toh 1 Wit wrarelt 575 ol Siifor W g & 1” foifest TR atea=a
3T & 33 foh el SE.UAT. o A TRA I H 7 et ST | 3R SRt § UoTe & TR =
e S5t off foh @110, o Heret Topdl TI0 SfehT o TA-THRIE H SRRT AR dfeht 5 9T
o e |

T TRITYT o et Fefetiad ® | A 9 eideh U g 2
(A) ot 1 ST (B) T o st yfirht
(C) SME.UAU. & HehaH o TS (D) A fohet o ofat

3. e, Ye-aTs TR et (&g feewti &1 qeem feraent Tefteh o ?
(A) TR TG

(B) it unfqen =Afdaat & forw ement

(C) T o feTu S7e1 @ =Afeaat o foTg meht

(D) SemETEEr & foeg feifesr ufdfshan

FRTAE S 9
(A) =0T AT ITTA (B) EfUea v THITUIE
(C) U3l THITUeH (D) EfUEa AT SH

T8 A foRdl o1 "ot J ST feoTeredt, g% e Wt SUFS BN foh WErd, STeRiud el i
off | 98 Tyl 39 hife ot off STt ATk STaRIe i oiie STt & |

7Y fergent Teryfd fohad & 3R 78 ey fhas faeg & 2

(A) TEeHA 7 foifesT TR & 55 AE-a & Feryid STaets |

(B) Tegat 7 fafeer wepR o faseg .. FemTet ¥ Weryfd SfaeTe |

(C) Towm A foifewt TXhR o foreeg TRaww e feoet § WerTyfd siaers |

(D) YR = 37 e & T bt 759 TR JehsHT et W& o |

ATt ferct o TR WS ST ol S, St ghsH ht GAaTE i UleT X @l o, St S
ST 2 T8t o 8 i & 2

(A) %a (B) e .
©) (D) e &R wfeerm <
aﬁ.@.qﬁﬂaﬁ%&w%%ﬁ%wmaaa%ﬁﬁﬁaﬁﬁwmwww%?
(A) TSZAIE TS TGS Sht & (B) HRc Qiehi ohi feretall Wehfa
(C) TETA-HHRIE | N 1 (D) SWie 4 ¥ i Tel
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The country which has the distinction of having the two largest circulated newspapers
in the world is

(A) Great Britain (B) The United States
(C) Japan (D) China

The chronological order of non-verbal communication is
(A) Signs, symbols, codes, colours
(B) Symbols, codes, signs, colours
(C) Colours, signs, codes, symbols
(D) Codes, colours, symbols, signs

Which of the following statements is not connected with communication ?
(A) Medium is the message.

(B) The world is an electronic cocoon.

(C) Information is power.

(D) Telepathy is technological.

Communication becomes circular when
(A) the decoder becomes an encoder
(B) the feedback is absent

(C) the source is credible

(D) the channel is clear

The site that played a major role during the terrorist attack on Mumbai (26/11) in 2008
was

(A) Orkut (B) Facebook
(C) Amazon.com (D) Twitter

Assertion (A) : For an effective classroom communication at times it is desirable to
use the projection technology.

Reason (R) : Using the projection technology facilitates extensive coverage of
course contents.

(A) Both (A) and (R) are true, and (R) is the correct explanation.
(B) Both (A) and (R) are true, but (R) is not the correct explanation.
(C) (A)is true, but (R) is false.

(D) (A)is false, but (R) is true.

January 1, 1995 was a Sunday. What day of the week lies on January 1, 1996 ?
(A) Sunday (B) Monday
(C) Wednesday (D) Saturday
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FrefefEa o 9 fohe <91 9 Had 31feh foaeor anel 8 THrER O3 Fehiird eid & 2
(A) Tefae (B) TAREE WH
(C©) <M= (D) ==

TR TR T AR eIl &
(A) T, Ueleh, e, T
(B) Wik, e, Tohd, 1T
(C) 1, Tehdl, Fe, Tdih
(D) e, T, Welih, Tohd

TR o A1 Tt o & e |1 e deitd T8 e ?
(A) T HEATE |

(B) foea U sorei-eh b ¢ |

(C) FETwfEEeE |

(D) ol deEnfien & |

HER TR & ST & ST
(A) Tehel TIRE T TR |
(B) Wfcyfse o1 ST BT & |
(C) wid fovae g eme |

(D) =T e g e |

Teferiaa & @ foh Tree = 2008 | Heg | gU STcharal g9et (26/11) T W SHehT TS off ?
(A) 3ipe (B) ®EIH

(C) 3ISH.FH (D) feaex

AfFHAT (A) : eI H Y9ESIeT GOR % 10 g IR Uisio= TEifiTen! sl STANT i aisig
AT |

T (R) : WISISRT WENTiTeht o SYNT & UISTshY i [5g-or] T SATIeh THE BT € |

(A) (A) Tar (R) T W&t & e (R) el A g |

(B) (A) @M (R) 3HI Tl &, W (R) T AT &I & |

(©) (A)Were, ™I (R) T & |

(D) (A) T e, 7’ (R) W ¢ |

1 SHeRt, 1995 %1 @R &7 | 1 SHeR, 1996 i i 9T fa 1 2
(A) aErR (B) HHER
() T¥ar (D) ¥HER
9 P.T.O.



26. When an error of 1% is made in the length and breadth of a rectangle, the percentage
error (%) in the area of a rectangle will be

@A) 0 B) 1
<G 2 D) 4

27. The next number in the series 2, 5, 9, 19, 37, ? will be
(A) 74 B) 75
© 76 (D) None of the above

28. There are 10 true-false questions in an examination. Then these questions can be
answered in

(A) 20 ways (B) 100 ways
(C) 240 ways (D) 1024 ways

29. What will be the next term in the following ?
DCXW, FEVU, HGTS, ?
(A) AKPO (B) ABYZ
(©) JIRQ (D) LMRS

30. Three individuals X, Y, Z hired a car on a sharing basis and paid Rs. 1,040. They used
it for 7, 8, 11 hours, respectively. What are the charges paid by Y ?

(A) Rs. 290 (B) Rs. 320
(C) Rs. 360 (D) Rs. 440

31. Deductive argument involves
(A) sufficient evidence (B) critical thinking
(C) seeing logical relations (D) repeated observation

32. Inductive reasoning is based on or presupposes
(A) uniformity of nature (B) God created the world
(C) unity of nature (D) laws of nature

33. To be critical, thinking must be
(A) practical (B) socially relevant
(C) individually satisfying (D) analytical

34. Which of the following is an analogous statement ?
(A) Man is like God
(B) God is great
(C) Gandhiji is the Father of the Nation
(D) Man is a rational being.

W-00 10



26.

27.

28.

29.

30.

31.

32.

33.

34.

W-00

STe U WHERIUT i OIS 3R SIS H Ueh WIerd Sl o1 &1 dl 3§ FHRIT & &heT § Jof i
VRIS B 2

(A) 0 B) 1

<o 2 D) 4

2,5,9, 19,37, 2 @A § ST GE&AT i G & 2

(A) 74 B) 75

(C) 76 (D) ST 9 HIE Tel
Teh TUE | 10 U9 Tel-TeAd o ¢, 52 fohc akiehi © get fohar ST Gehel & 2
(A) 20 (B) 100

(©) 240 (D) 1024

frfeATEd | | 3T Ug (<) i |1 8 2
2 ¥ T Teed, U § A, T ST & U, 2
(A) T (B) TS aE S
(C) S 3TE IR (D) TATH IR TH

i =t X, Y, Z 3 U R o7 X 8 Wl 3T SR ot i 1,040 $UU a6t 3SR &l |
I SR i A 7, 8, 11 Ut o foqw vt fohar | Y g7 fehem fereman 31eT fomam a2

(A) 290 %9U (B) 320%wW

(C) 360 (D) 440 T
AT e o Gftrferd &

(A) T G (B)  3TTeT=HTHS [TaR
(C) dfeheh Ty ST (D) T: I: TSl
STTHATCHh SHfgeha ST & 2T YaTet e &

(A) TFH H THETA (B) fova =t $var = Fema
(C) VIepTeT ol Wehall (D) Vepid & |
AHTATETCH e 8i= o T BT dMieq

(A) =R (B) Gk HTea
(C) <afess T (D) fovciToTeT®
=1 9 @ i a1 G e € 2

(A) TTATRHTEE |

(B) TR TEHE |

(C) TASHI S fUare |
(D) T U Sifgeh TON € |
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Questions from 35 - 36 are based on the following diagram in which there are three
intersecting circles. H representing The Hindu, I representing Indian Express and T
representing The Times of India. A total of 50 persons were surveyed and the number in the
Venn diagram indicates the number of persons reading the newspapers.

10

@

T

35. How many persons would be reading at least two newspapers ?
(A) 23 B) 25
< 27 D) 29

36. How many persons would be reading almost two newspapers ?
(A) 23 B) 25
< 27 (D) 48

37. Which of the following graphs does not represent regular (periodic) behaviour of the
variable f(t) ?

+3
(1)
L. +1
+1
2. (0
-1
+1
3. f®
0
t
+1
4 (v
1 |t—>
A) 1 B) 2
€ 3 (D) 4

W-00 12
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T
fopet =afed 9 | 1 S YUK 95 Ugd & 2
(A) 23 (B) 25
© 27 (D) 29
fore =afa 31fier 9 31fueh 51 THER O3 U © 2
(A) 23 (B) 25
© 27 (D) 48

freferfiad et 9 @ = @ it (eTetier) e & eeR f(t) 1 uidiHtee et i ?

+3
(v
+1

+1
2. ()

-1

+1
3. f®

0

t

+1
4. 1

i =
A 1 (B)
€ 3 (D)
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Study the following graph and answer the questions 38 to 40 :

12,000 |

10,000 /\

8,000

4,000 \/ ,

2,000

2001 2002 2003 2004 2005 2006

—@— hospital X
—{1— hospital Y

Years

In which year total number of patients registered in hospital X and hospital Y was the
maximum ?

(A) 2003 (B) 2004
(© 2005 (D) 2006

What is the maximum dispersion in the registration of patients in the two hospitals in a
year ?

(A) 8000 (B) 6000
(C) 4000 (D) 2000

In which year there was maximum decrease in registration of patients in hospital X ?
(A) 2003 (B) 2004
(©) 2005 (D) 2006

14
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FATATE T hT 31827 ShIfSTT 3T U9 38 I 40 Teh T ST 311U :

12,000 |

10,000 /\

8,000

o N

2,000

:

2001 2002 2003 2004 2005 2006

—@— 3™ X

kK —1— JTmaAY

38. fohg o B oreuaret X 3R STl Y B Usiighel ANTAT ol T Siferehay ot ?
(A) 2003 (B) 2004
(©) 2005 (D) 2006

39. U AT H AT STAAA B USTighd AT T SATeha forast= = g 2
(A) 8000 (B) 6000
(C) 4000 (D) 2000

40. T o T T X ° ANTET o UGSTeniol § 3TTehad st 3TTE ?
(A) 2003 (B) 2004
(C) 2005 (D) 2006

W-00 15
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[For Blind Students Only]

Read the following passage carefully and answer the questions 35 to 40 :

London’s phenomenal growth was probably at its fastest in the sixteenth century,
a period when the population was growing everywhere. Many people were attracted to
the rapidly growing port, which handled upto 90% of total English foreign trade and
gave rise to a wide range of ancillary industries. Other sectors provided goods and
services for the court, which now settled permanently in the capital, and for the
growing numbers of the rich and ambitious who were attracted by court’s presence.
This concentration of the wealthy made London a great leisure centre and the main
purveyor of professional services, especially in medicine and law. Population growth
now tended to become cumulative. More people needed even more people to provide
them with goods and services that they required to survive in a large city. London was
always an unhealthy place and mortality rates were much higher than elsewhere in the
country, sometime rising to catastrophic heights, as in the terrible plagues of 1603,
1625 and 1665, the last of which killed 80,000 people, 1/6™ of the total population of
the city. Such high death rates coupled with rather low fertility, meant that London
could never grow by its own natural increase. In the century after 1650, when London
continued to grow but the English population remained fairly stable, immigration to the
city drained the countryside of people and gave London its highest-yet population. It
has probably then, in the early eighteenth century London of Defoe and Hogarth, that
the city also had its greatest significance as a school centre and a school of manners and
ideas for the rest of the country.

London’s rate of population increase was at its greatest in the seventeenth century
because

(A) Its death rate was the highest in Britain at that time
(B) It was a time when the population growth was declining everywhere
(C) Migrants were drawn to London because of the vast increase in trading

(D) Its high rate of mortality was offset by a low birthrate

In comparison to the rest of the country, the population decline in London in the
seventeenth century was as a result of

(A) frequent outbreaks of plague

(B) low rate of fertility

(C) immigration to other parts of the country
(D) movement of people to other countries

16
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[Faet A St 2]

o [N aY

TG ST Sl EATFYe TG T99-SeT 35 T 40 T TR ST |

TicTed ISt — Ueh THT Yo ST &% T hi STER! ¢ Vel o — H oia 1 STIYd foehr
T3 ST =T §U Uect o forshell § ™ o | ISt @ ki i 39 SIS — STl | ol SRS
ToReT-ZATaR T 90 WTTeT HefeT Sia &7 T STet STS ST ol SATIeh et U Y&t off —
T Tgd TR TN 3TF §U | TOIER (i) — ST 37 A & T TS § 0 & — T e
W YR & TS G=AT | STF & a6t &1 T Heaehiel! Sfeal o foTd QT Tor Jand
3T &35l GRT ST TS ST Xel off | &t SAfekeral ok WehgUT o ShRUT TG R o TH i fore
T U LT 5 qAT Jreieh WA — foers Y Fafehedn T2 A — T T STTYfcshdl o T |
STETET 1 gig 319 ST T URUT A oM | U g IR § g ot e § o &nl o
SHiferd Y&t o ToIT 3Trervass AmfET aer WarsT s SUeted FNH % ol Sgd WR Sl
STTEvThel ot | T8 TIT W & R % feTu Ueh g1ug T Tl & 721 39 o 37 ] i 370
&1 Jg-TX g ST ot ST FHI-h T Helferdfe h1 T UROT H oIl o, S T 1603, 1625 T2
1665 o YA T 1 § STER @I § ¥ i TERT 31 1/6 AT 377 80,000 FART 3T et
J FTet feram | g Rt S Sl @Y AT THeh! ot H AR ST9-aX 9 ShRUT ¢ig i STETRT
Ao foehrel el 81 & TR | 1 1650 & a18 39 ARl H 519 Tig ol (e8Il @1 T
STTIST STMERT TRTSRT R T8, TTHIoT &35 & SIS a1eTs | ol b ¥R § STVEre g311 Seeh SRl
TS i SERI 3T O i SGHTH TGl 81 T8 | HHERT: T 3TSREd Il o HARTHH HieA §
T AT BT o WA o TH IR i 99 ok 3T AT o foTu Vifeten ohy et e e fommi &
% % ® H el el |

TR YT H o oht STETRT i i i &R 3TTersher off itk

(A) 13 | o B g il R 3 GHT T 377eh of |

(B) € ¢ THT o1 51 &% T T ST 3 Jig | TRIee 31 W@ ot |

(C) VETE o= i 3R e 311 2 & Fifch dal o AR H sIged R g5 &l W& off |
(D) TUHT 30 GJ SR b 1T ST X F Fffordt &l 7T |

9T o 9IS AT Rl oI |, T3 | icTedl ¥t § STEIET 3 S g 3T HIR0T -7 2T 2
(A) TN T U AT

(B) S &THdT i = 1

(C) T 3T NI | SThT G

(D) AT T 31 S0 | ST

17 P.T.O.



37.

38.

39.

40.

41.

42.

43.

44.

W-00

After 1600 A.D., the demography of London was characterised by
(A) high deathrates and birthrates

(B) three major outbreaks of disease, the last of which was responsible for the death
of over 80,000 people

(C) arise in population through natural growth
(D) population stability

Examples of the economic hegemony of London in the seventeenth century include

(A) the movement of the Court permanently to the capital

(B) 9/10™ of England’s overseas trade passing through its docks

(C) alarge variety of secondary industries growing up around the port of London.

(D) London becoming England’s major intellectual and cultural centre at the time of
Defoe and Hogarth.

Which one of the following was not the cause of high rate of death among the people of
London ?

(A) Increasing low fertility among people

(B) Absence of diseases

(C) Family planning regulations of the State

(D) Migration of population

What made London a great leisure centre ?

(A) Growth of ancillary industries.

(B) Concentration of wealth among people who were earlier poor.
(C) Increased rate of mortality.

(D) Due to increase in immigrant population.

Which of the following sources of data is not based on primary data collection ?
(A) Census of India (B) National Sample Survey
(C) Statistical Abstracts of India (D) National Family Health Survey

Which of the four data sets have more dispersion ?

(A) 8 91 90 92 8 91
B) 0 1 1 0o -1 =2
© 3 5 2 4 1 5
D) 0 5 8 10 -2 -8

Which of the following is not related to information security on the Internet ?
(A) Data Encryption (B) Water marking
(C) Data Hiding (D) Information Retrieval

Which is the largest unit of storage among the following ?

(A) Terabyte (B) Megabyte

(C) Kilobyte (D) Gigabyte
18
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1600 . T T oh STITsheh! o oT8T0T &

(A) SHTGR IR TR

(B) 7 I T IR W ®T § o, STERT a3 I % et & 80,000 SAfHRTET S G &% |
(C) WThich SITd % SHROT SEEAT | g T 8T

(D) S T R

el ITATST H e oh STk STl o 3STe0l § INHet &

(A) TSTEIER T TR & © ST § 37 ST |

(B) ¥riug o o el SATIR 1 9/10 ST SHeh ek © &lehd STl o7 |

(C) T i S<UTE & 5-11T8 3T Hifd o fgaiar ST ot S+ |

(D) W 3R e o FHA B Eoivs B o5 i T Silgeh Ud Hihiceh s ST |

<A % AT H 3o Gog I T T ST HIROT hi= AT T &7 2
(A) = 57 et 5 gig

(B) i @t srqufeta

(C) T % URAR T faftag

(D) SHEEA I

A= ol BT T e e § F T S 2

(A)  STIST & St 3T

(B) S A, ST yget FE 2, o gt O Sietd ol Sehgl &
(C) FANHT=

(D) SN & foRen | ST | g8 gg

freferiae sferer-aid § | i 91 TR 3iieheT GUeoT W e Tal € 2
(A) 9RA HI SFHIOET (B) T HuoT GaeToT

(C) 9RA o 3iehel 9’ (D) T UREAR T HAEToT
frfefad ar sierer-fom=ral § sarer fasi fead & 2

(A) 88 91 90 92 89 91

(B) 0 1 1 0 -1 2

© 3 5 2 4 1 5

(D) 0 5 8 10 -2 -8

7T | F B T 2R Bl AT GRET W eI T & ?

(A) < U (B) aeX {1
(C) TwTEERET (D) EHEEE RgEae
=7 & & YUeRT ) Fad gel THEE FH A E ?

(A) UEREe (B) TR

(C) Tepetl amee (D) frmaTEe
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45. bit stands for
(A) binary information term (B) Dbinary digit
(C) Dbinary tree (D) Bivariate Theory

46. Which one of the following is not a linear data structure ?
(A) Array (B) Binary Tree
(©) Queue (D) Stack

47. Which one of the following is not a network device ?
(A) Router (B) Switch
(C) Hub (D) CPU

48. A compiler is used to convert the following to object code which can be executed
(A) High-level language (B) Low-level language
(C) Assembly language (D) Natural language

49. The great Indian Bustard bird is found in
(A) Thar Desert of Rajasthan (B) Coastal regions of India
(C) Malabar Coast (D) Delta regions

50. The Sagarmanthan National Park has been established to preserve the eco-system of
which mountain peak ?
(A) Kanchenjunga (B) Mount Everest
(C) Annapurna (D) Dhaulavira

51. Maximum soot is released from
(A) Petrol vehicles (B) CNG vehicles
(C) Diesel vehicles (D) Thermal Power Plants

52. Surface Ozone is produced from
(A) Transport sector (B) Cement plants
(C) Textile industry (D) Chemical industry

53. Which one of the following non-conventional energy sources can be exploited most
economically ?
(A) Solar
(B) Wind
(C) Geo-thermal
(D) Ocean Thermal Energy Conversion (OTEC)

54. The most recurring natural hazard in India is
(A) Earthquakes (B) Floods
(C) Landslides (D) Volcanoes

W-00 20
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bit =T A €

(A) T THERA 2 (B) eI fefvie
(C) TERZH (D) wTERTE =R
frefefiad o & o T I ST T T6l € 2

(A) ™ (B) =TI

<© = (D) wH
frefeAfiad o & i T A2ah ST T § ?

(A) WX (B) fe=

€ & (D) ¥y

Teh SHHITEER o1 YT 1 ol STTeeiere Shig H I5ei o [T {ohal ST € 2
(A) =T TF (B) T = st
(C)  FrEwet s (D) VT
e AR Gie fatedn (I 2feam ses fafean) et ur St & 2
(A) TSTEI T IR IR (B) WRd & a2 &
(C) HTER a2 (D) T &

Tohey Tt fTe o UTRIRATeR! o o TReT0T o ToT WRE IS e ol T 88 € 2

(A) SEST (B) UeR¥E ad
(C) a=Tqor (D) T

T 31T hooted (Fiferd) fhed Fereran € 2

(A) U =M (B) T w <t e
(C) ST ama (D) g Wi Ha=t
HAR! STST fhed ST &l € ?

(A) UReRT & (B) e @a=
(C) =& 3T (D) T ST
FTAREe T TR Sl ial | 9 foreen 21 faceafadn & arer e o s gear e 2
(A) TR

(B) U

(C) g

(D) TR AT Sl FURacH

IR | T 31k 21 dTed! Tiehicieh 3TMagT A 91 & 2
(A) TP (B) =@
(C)  vEaeH (D) oTerreTt
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The recommendation of National Knowledge Commission for the establishment of
1500 Universities is to

(A) create more teaching jobs
(B) ensure increase in student enrolment in higher education

(C) replace or substitute the privately managed higher education institutions by public
institutions

(D) enable increased movement of students from rural areas to urban areas

According to Article 120 of the Constitution of India, the business in Parliament shall
be transacted in

(A) English only

(B) Hindi only

(C) English and Hindi both

(D) All the languages included in Eighth Schedule of the Constitution

Which of the following is more interactive and student centric ?
(A) Seminar (B) Workshop
(C) Lecture (D) Group Discussion

The Parliament in India is composed of

(A) Lok Sabha & Rajya Sabha

(B) Lok Sabha, Rajya Sabha & Vice President

(C) Lok Sabha, Rajya Sabha & President

(D) Lok Sabha, Rajya Sabha with their Secretariats

The enrolment in higher education in India is contributed both by Formal System of
Education and by System of Distance Education. Distance education contributes

(A) 50% of formal system
B) 25% of formal system
(C) 10% of the formal system

(D) Distance education system’s contribution is not taken into account while
considering the figures of enrolment in higher education

Assertion (A) : The U.G.C. Academic Staff Colleges came into existence to improve
the quality of teachers.

Reason (R) : University and college teachers have to undergo both orientation and
refresher courses.

(A) Both (A) and (R) are true and (R) is the correct explanation.

(B) Both (A) and (R) are correct but (R) is not the correct explanation of (A).
(C) (A)is correct and (R) is false.

(D) (A)is false and (R) is correct.
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TSLF A SERT FRT 1500 fervafermerai st wenfud e o fawmie s e = e ?
(A) ST TEATIT % UGT i ST |

(B) 3= T9TeT | forenterat o SRaet St ki ST |

(C) ToTt 3= f¥retr TR o T T SRR T ol TNiud e |

(D) T &5 o forentert st wrest ¥t o WM H ot Td § o |

TR o T & ST 120 o SR TGS i HrIaTel T T 2l § 2
(A) ot TS H

(B) et et |

(C) fe<ta s o

(D) Wfaur & 3red Uiy § Tftaferd Tt et §

=T 5 @ B 1 31fereh SrafohaTcAeh 3R formeli-3<a (i) & 2

(A) gt (B) e
©) =rEH (D) Tge ==
TR St HEE Ted git &

(A) <H G T TG H

(B) M T, 5T T & SR &

(C) Ik T, 5T T F i |

(D) M T, ISF AT T ST o FraaTerd died

IRT § 3= freqr o dsiieneor 7 fren ot S qonterdt — STaenies TuTett o 3 forer womed

IR EATE |

T RTeT VOTIeAT AR el &

(A)  STYENER T T 50 WaeTd

(B)  3Tioniieh YT 3T 25 Uidere

(C)  3fioeniies Jotedt T 10 Tiaerd

(D) =9 To1et | USTeRoT & Siehel W TR s 9 gre et & areE W faeR &
Toram ST

AT (A) : fovalaaTerd TR 3TN & SThIETHS T% HicisT (18T i TUTaT Sl 9
T & U e 0 21w |

RO (R) : Towaforer IR HeliomTerd TeTehT i TeTeToT UTSTeTor UTed ST 8T & |

(A) (A) T (R) T T&T § 3R (R) ST Tel TR E |

(B) (A) = (R) 3 T € o] (R), (A) T Wel TILTHIT TE & |
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